351131

1 2019

- 14 ABC ABC 90

AC BDC 45 BD cos ABD

1, RT A4BC sinC %

BCD {BD - 3 BD —12\/5
sinC sin BDC

5
CBD 135 C sin CBD sin(135 C) 72

cos ABD cos(90 CBD) sin CBD 72

10 B

2 2011 : 6 2 ABC
D

AC AB  AD,2AB /3BD B
BC 2BD sinC

W B o

p.Ye
3 6

AB 4 BC 3 D

1

AB ¢ AD ¢ BD

ABD sin 4 &

S}
I

4dc
< ?C J3 sinC ﬁ
sinC sind 22 6

ABCD A 2

BE 1 EC,ED  CED %,CE J7. Cq

ABC

(1) sin BCE 2 CD




(1)  CBE

CE BE ) \21
- : , sin BCE ——.
sinB sin BCE 14
2
(2) CBE CE* BE* CB®* 2BE CB cos? CB 2.
27 ) V21
cos BEC i sin BEC —=——
7 7
] .2 21 5
sin  AED sin(=— BEC) —-—,cos AED 547
3 14 14
AE
RT ADE DE — == 27 CED cD 7.
cos AED
3
4 ABC D BC AD BAC ABD ADC
2
sin B J2
1) — (@) 4D 1 DC Y= BD AC
€)) SnC @ C 5
sinB - AC S, 1
sinC 4B S ,, 2
@ B2 Sw o, BD 2. ABD  ADC
DC S ..,
AB? AD* BD? 24D BDcos ADB, ®
AC? AD* DC? 24D DCcos ADC, @ cos ADB  cos ADC
D+2x @ AB®* 2AC* 6 AB 2AC AC 1.
5 4 ABCD AB 2 BC 3,4B AD,AC CD -
AD 34C AC -
C
B
AC x,AD 3x RT ACD CD 22« sin  CAD ¥
1
ABC cos BAC BAC  CAD 9O

2\/2x



X1 242

cos BAC sin CAD,——— ——

2\/§x 3



